T—)

[ H 8 =

iF E Sl

b —Z=2 T — L

e

*

A

£

u o

K
2

3

4

D

o|

PRBEICLYI—R

EEBEICLYI—R

= - A LR
i %ﬁf—iﬁi okl T 4/] e HiRa Y= ?é-\éoz 6 %o/
9:30-11:15 9:30-11:15 ' '
EHKIKEE
15-18

/

9

10

12

T—=LTTOHHAX
10-11

FRRE(CEIYI—X
HIRHYFY
9:30-11:15

aAVT4a=0H5 3
13-14

N—F &ALLYTF
13:30-14:30

14

16

17

FRBEICEIYI—R
HIRHYFY
9:30-11:15

BT TEKK
15:00-16:00

18

19

20

T—ILTIHOHHAX
10-11

aAVT4a=05 3N
13-14

Y—F &ALLYF
13:30-14:30

21

22

23

24

25

26

27

28

29

30




BEANEHOITA3=2737AX XEIOALIHN




7/1 E#BKIKERERS

AEFRIEATSHCE

7/19 H<hik:E



